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No supplementary answer-book will be given to any candidate. Hence the candidates should write the

answers precisely in the main answer-book only. ' ’
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All the parts of one question should be answered at one place in the answer-book. One complete question

should not be answered at different places in the answer-book.
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Write your roll number on question paper before you start writing answer of q’uestions_v
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Attempt five questions in all, selecting one question from each Unit.
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1. Write short notes on the following - [1Y2+1Y54+2+2=T]
ferfoad e fewfr fafay — |
()  Chemically equivalent protons
| grfd ged Wer
(i)  Spin-Spin splitting
FEpoT—TgpyT fare
(iii) Nuclear shielding and deshielding
(i"_) NMR spectrum of ethyl acetate
gfret YR @1 NMR &6
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2. (a How many signals would be obtained in the PMR spectrum of the

following compounds and what would be their multiplicity? [1+1+1+1=4]
1 AP & PMR Wags § e 9D I & 3R e
) . qgdl 4l BINT? ' i
& )  CH3CHOH
&3 (i)  CeHsCOCH;
O | CH,
(ii1) CH; —C— CH,
|
CH,
(iv) CH3—(iH —CH,
¢ Br _
& (b) How will you prepare from Acetoacetic ester? [1+1+/2=2"2]
2. - 2
o) TS TR § Y U HRA?
Cond '
:ﬁ; 6)) 4-methyl uracil
- 4—3Pra TR
(i1) Crotonic acid
P TS
(iii)  Antipyrene
Ui B
UNIT-11 / 51511
3. Complete the following chemical equations - [1Y2+1Y2+1Y2+2=6Y2]
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rt notes on the following - (1Yt 1241V
14+1Y/241V242=6"4]

Write sho
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() Fischer-Indole synthesis {(,IE
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(i) Skraup synthesis
Gty wiganul

(iii) Bischler-Napieralski reaction
freR—faaRfea! aiffdan

@iv) Paal-Knort Synthesis O
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UNIT-III /gﬁ%—lﬂ
[1V5+1V5+1V2+2=62]

Write short notes on the following - -
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()
(ii)
(iii)

(iv)

(1)

(ii)

Ruff méthod

<% fafr

Killiani method -
fpferg fafd

Wohl degradation method
dter @ Foreitaeer A
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Write mechanism of osazone formation and explain, why C: and
[3¥1]

s of mOHOSﬁCCh‘““le s takes part in the mechanism?
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C, atom
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Explain the

Jifferent S€P° for the conyersion of D-glucose into
3]

D-mannose- ' :
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